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Practice Set

1. "retet A Sgudl 3Ted HI d forgT. Fieor .

1
y+
Y

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_n31af30o1nHc

2. Wreflet 120 SgHal 3Ted 1 d forer. wsiaor .
2 5%

° Watch Video Solution

3. Wreflet 1A TgUC 31Ted 1  foTgl. Tstasor .

2+ T +9

° Watch Video Solution



https://dl.doubtnut.com/l/_n31af30o1nHc
https://dl.doubtnut.com/l/_mIDdZHb7T2OH
https://dl.doubtnut.com/l/_pMbmsObmRhm6

4. Trcfict LM TEUGT 31Ted T d foTal. TeiemoT .

om~ 2+ Tm —5

° Watch Video Solution

5. @reflet 10 SgUct 31Ted 1 d foTgl. Tstaor .

10

o Watch Video Solution



https://dl.doubtnut.com/l/_7xoNc0nmBlOC
https://dl.doubtnut.com/l/_eibcr0qFM6tT

6. Tlcilel Fedeb SgUeldiet m® = HE U1 feTar.

m3

° Watch Video Solution

7. Gieiicl Yeie Sgueldiel m? |1 Ae[ure forar.
—% +m — /3m®

o Watch Video Solution



https://dl.doubtnut.com/l/_DboEpVBe5yLZ
https://dl.doubtnut.com/l/_u1r8UDDDW7vT

8. @letlel Yedieb SgUeidiel m® < HEUIb feTgr.

_Tm3—5m2+7m—1

° Watch Video Solution

9, Wlcildd HAlfgdld®w-d z & did draswd JAdhl Uh

gguql forar.
PIET 7 3Aelcl UpTar

o Watch Video Solution



https://dl.doubtnut.com/l/_VkjcmXfbbZDS
https://dl.doubtnut.com/l/_pME8RSYdentd

10. Wicllal Alfgdid®d x g dd dg&d Yol Uh

ggual ferr.
PIct 35 3! feud

° Watch Video Solution

11. @leflel ATGATaS x & Tl TR Tl Ueb Sgyal
feTer.
PIEl 8 RACIel! AU

o Watch Video Solution



https://dl.doubtnut.com/l/_7DyEloBWlJpF
https://dl.doubtnut.com/l/_uurd6xCMHkNN
https://dl.doubtnut.com/l/_OF4rmgSnw6fd

12. "Wleflel YAh Sguare bicl fergl.
V5

° Watch Video Solution

13, Wrefiet Fies Tgudieh B forer.

(0]

Wi

° Watch Video Solution



https://dl.doubtnut.com/l/_OF4rmgSnw6fd
https://dl.doubtnut.com/l/_lcguC4mZcECu
https://dl.doubtnut.com/l/_EWHinrSyVaJL

I @ Watch Video Solution

15. "leflel Y Sguare bicl fergl.
\/ﬁml() _ 7

° Watch Video Solution

16. efiet e gl B fevel,
2p — /7

° Watch Video Solution



https://dl.doubtnut.com/l/_EWHinrSyVaJL
https://dl.doubtnut.com/l/_hSRtmd2IuMl0
https://dl.doubtnut.com/l/_6MoMKz8OJPmV

17. Wcflet T SguaHd! Iet feter.

Ty —y° +¢°

° Watch Video Solution

18, @efleT e Sgadieh Bt e

TYz + xYy — Y — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_d1CimN7ZDOuG
https://dl.doubtnut.com/l/_BWHBu9kdDPQq

19. "Wleflel AP Sguare Bicl fergl.

m*n’ — 3m°n + mn

° Watch Video Solution

20. Wicflel SgUard N1, @91 g o Jgual IdR
fTeRR0T B3I

2¢% + 3z + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_3v3b2Sth5aXY
https://dl.doubtnut.com/l/_HtK7hW9zAyHT

21. Wiefle? Sgudld Y, o9 9 g9 Sgudl ATebR
fTeRROT B3I

>p

° Watch Video Solution

22, Wicflel SgUdrd I, @51 g & SgUcl ATIbR
fTeBROT .

1
ﬁy—g

o Watch Video Solution



https://dl.doubtnut.com/l/_vgxINhKlAapL
https://dl.doubtnut.com/l/_8J9n64zCF9gA
https://dl.doubtnut.com/l/_S2Q91Eci4ETh

23. Wlellel IgUard W, a9 § °9 §gual MR
ffepRoT BRI

5
m3—|—7m2—|—§m—\/7

° Watch Video Solution

24. Tl IgUEr W, &9 g ° §gUdl 9N
fTepR0T B3I

a2

o Watch Video Solution



https://dl.doubtnut.com/l/_S2Q91Eci4ETh
https://dl.doubtnut.com/l/_ICehXm4ktPHY

25, Wicflel SgUard I, @91 g & SgUdl ATHbR
fTeRROT B3I

3r?

° Watch Video Solution

26. Tcile] TgUG! FHTOT T foTer.

m3 + 3 + 5m

o Watch Video Solution



https://dl.doubtnut.com/l/_cGF5U6r7ODhW
https://dl.doubtnut.com/l/_eEkCAIJUUouR

27. @reflel SgUCH THTOT STd feter.

1
—7y—|—y5—|—3y3—§—|—2y4—y2

° Watch Video Solution

28. Wcilel SgUal He[VTeh ®Td feter.

3 — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_HNfXfEbcEJya
https://dl.doubtnut.com/l/_nEJ8smcqHay5

29. Wlellel TgUGH A 0T w1 feter.

oY

° Watch Video Solution

30. Weflel IgUGT He 0T R ferer.

om* —3m? + 7

o Watch Video Solution



https://dl.doubtnut.com/l/_LB1REEChJSTk
https://dl.doubtnut.com/l/_9hHVg7EQVq9O

° Watch Video Solution

32. Gelld FEUIP FUTAId SgUal x el o

gTdTRward felgrl.

(1,2,3)

o Watch Video Solution



https://dl.doubtnut.com/l/_8vgwtAAadDXF
https://dl.doubtnut.com/l/_BhO1sWGakbfz

33. Wil FSUIP FUMAIT SgUal x del JTaed

gTdTe®uld folgl.

(5’ O’ O, O’ -1)

° Watch Video Solution

34, lefldl HeUIh FUTAIT dgUal X Tl ITawd

gTdThward felgl.

(-2,2,-2,2)

o Watch Video Solution



https://dl.doubtnut.com/l/_9UcR7fY5q68T
https://dl.doubtnut.com/l/_W1FrWPslQpnw
https://dl.doubtnut.com/l/_ODrbR8uT66yi

35. Wrefl Brél Sgual feied 3. o Igud! feete
dieeld ard S forar.

° Watch Video Solution

36. f&elell 318R ITIRA 3T forar.

ofle IMaTd a SIS 3Ted. SR I Rasl I,
a¥l b A dled, R x auiHaR &1 Iard Bt e
3RTdIE?


https://dl.doubtnut.com/l/_ODrbR8uT66yi
https://dl.doubtnut.com/l/_b9b5JXyCzjmr

° Watch Video Solution

37. feeiell 378R aT9R 3T foral.
BAIARITS! UBT Id y ol HA x PN Bl @
HATIAITS! UHUT foelt et &R el 2

° Watch Video Solution

38. factetl 318K aToR 3T fetal.

TSI G 3{ehl AT Uebeh I &I IUTAT 3 3IhH
m @ n 378, R dl G 3l HAT GAquieaR] sgud
BTl ?


https://dl.doubtnut.com/l/_b9b5JXyCzjmr
https://dl.doubtnut.com/l/_fmUccwgmhBqz
https://dl.doubtnut.com/l/_ROMbip07UdiV

o Watch Video Solution

39. Wcilct SgUcrd! SISt .

w3—2a:2—9,5:133—|—2x+9

o Watch Video Solution

40. Tcile] SgUQl SRTsT BT

—™m* + 5m® + /2, 5m* — 3m> + 2m? + 3m — 6

o Watch Video Solution



https://dl.doubtnut.com/l/_ROMbip07UdiV
https://dl.doubtnut.com/l/_RvLZaq4oAui5
https://dl.doubtnut.com/l/_4A8k0uR4eaCq
https://dl.doubtnut.com/l/_fOlz8BPrHnuX

41. Wcfle UG SRIST B

202 + Ty + 5,3y + 9, 3y®> — 4y — 3

° Watch Video Solution

42. qfgean SgUGld gkl Sgual ISt .

z® — 9z + /3,192 + /3 + Tz*

° Watch Video Solution

43. YfgedT SgUald GERl Sgual gofl &,

2ab” + 3a%b — 4ab, 3ab — 8ab”? + 2a%b



https://dl.doubtnut.com/l/_fOlz8BPrHnuX
https://dl.doubtnut.com/l/_jaJSO6HAohAG
https://dl.doubtnut.com/l/_DWEsyCYjTXfV

\ ° Watch Video Solution

44. TTciicT IgUGHT J[OTBR T,

2:13,332—2:13—1

o Watch Video Solution

45. Wcilct UGN JUIThR .

? — 1, 2° + 2% + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_DWEsyCYjTXfV
https://dl.doubtnut.com/l/_2VTPyOhkzL9z
https://dl.doubtnut.com/l/_3qfcvEPHLE7K
https://dl.doubtnut.com/l/_XI91SnL3LWWp

46. TTeilcl SgUGHT IOMBR .

2y—|—1,y2—2y3—|—3y

° Watch Video Solution

47. fgeaT SgUStel gHAT IgUGH WIT AT 3R "HIsd=

YTSTp X UPTBR + d1eh! ' T ®uTd fogl.

> — 64,z — 4

° Watch Video Solution



https://dl.doubtnut.com/l/_XI91SnL3LWWp
https://dl.doubtnut.com/l/_pFSqhBwlX9JE

48. UfgedT SgUCIel gH-AT SgUC WPT T ITR "HIsd=

YTl X UPMBR + d1p! ' IT ®w™a1d folgl.

5x5+4w4—3x3+2x2+2,w2—w

° Watch Video Solution

49, Wil UPTHBR HAYT Ugda 3701 V8T dgdiq
. UPTIHBR 70T S1h foigT.

(2m* — 3m + 10) + (m — 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_Sxyc8MKMq6fD
https://dl.doubtnut.com/l/_55q3HQngS81Z
https://dl.doubtnut.com/l/_GgZruVB7otun

50. Wil YPTTBR JATT Tgala 30 9T gegeiiq
IR, YPIIBR 37101 S1h g,

(z* +22° + 32° + 42 + 5) + (z + 2)

o Watch Video Solution

51. Wcild YPMHR AT Tgda 31101 9T ggdia
. UPTIBR 70T 1h foigT.

(y* — 216) + (y — 6)

o Watch Video Solution



https://dl.doubtnut.com/l/_GgZruVB7otun
https://dl.doubtnut.com/l/_ioPVRLANSRkN

52. Wlcitel UPTHAR AT Ugdl- 101 YT Ugdiq
IR, YPIIBR 30T S1h g,

(2z* + 32° + 4z — 22%) + (z + 3)

° Watch Video Solution

53. Wlcilel UPTHR HAYT Tgdd 1O 39T g4
IR, YPTBR AHTfOT a1t feTal.

(z* —32° — 8) + (z + 4)

° Watch Video Solution



https://dl.doubtnut.com/l/_4KH0ruuJ1Wq9
https://dl.doubtnut.com/l/_IG4aHPIVQHh0
https://dl.doubtnut.com/l/_6YhpL6utBP8z

54, Wil UPTHBR JATT Ugdla 301 YT dgdl+
IR, YPIIBR 37101 S1h g,

(" =3y +5y—1) = (y—1)

° Watch Video Solution

55. ¢ = 0 AT z° — bz + 5 A1 9guar fhad

Plcl.

° Watch Video Solution

56.5R p(y) = y> — 32y + 1 FI'\’p(?)\/Q) PIGl.

[ - |


https://dl.doubtnut.com/l/_6YhpL6utBP8z
https://dl.doubtnut.com/l/_9zXNT2fp7gMi
https://dl.doubtnut.com/l/_MoaYdxueGRbz

I @ Watch Video Solution I

5. R pm)=m’+2m* -—m+10 ®

p(a) +p(—a) =7

° Watch Video Solution

58.5R p(y) = 2y° — 6y® — by + 7R p(2) FIel.

o Watch Video Solution



https://dl.doubtnut.com/l/_MoaYdxueGRbz
https://dl.doubtnut.com/l/_9VpZr3LOAwdU
https://dl.doubtnut.com/l/_UM7jZjV8ve6c

59, x ot factelt fobHd 8H9 2z — 22 + 7 A
Jgudr fesHd Brer.

r =3

° Watch Video Solution

60. x I feaell fFaad 939 2z — 22° + 7 A
Sgudr fehHd Blel.

r= —1

o Watch Video Solution



https://dl.doubtnut.com/l/_hqA6HlnydwGc
https://dl.doubtnut.com/l/_cyPbvXbcTR16
https://dl.doubtnut.com/l/_5KddSW2QHFUo

61. x =t feaelt fobad 839 22 — 222 + 7ma§qé1%ﬁ
foord PIal.

=20

° Watch Video Solution

62. Wil T SgUaidRdl p(1), p(0) 31fOT p(-2)

Plcl .

p(z) = z°

o Watch Video Solution



https://dl.doubtnut.com/l/_5KddSW2QHFUo
https://dl.doubtnut.com/l/_n2JnMemc18fB

63. Wicllel T dgUaldRdl p(1), p(0) 3O p(-2)

Plcl .

p(y) =y> —2y+5

° Watch Video Solution

64. Tcilc] YD TgUaipRdl p(1)

Plcl .

p(z) =z —22° — x

, p(0) 31fOT p(-2)

o Watch Video Solution



https://dl.doubtnut.com/l/_T00DnkXW12Q5
https://dl.doubtnut.com/l/_OC8fzb0iAlS8
https://dl.doubtnut.com/l/_aVR2z2pEJ4bR

65. SR m® + 2m + a I IgUGArd! fHAd m = 2

3GA™ET 12 378, R a di fad Frel.

° Watch Video Solution

66. SR p(z) = mz’ — 2z + 3 I SIS
p( — 1) = 738 R m =t {bAd Pral.

° Watch Video Solution

67. Wicllelddh! UfgedT dgUclell GH-AT SgUdH


https://dl.doubtnut.com/l/_aVR2z2pEJ4bR
https://dl.doubtnut.com/l/_CaDPoORvUWTX
https://dl.doubtnut.com/l/_horFR0pAWCfC

(2> =Tz +9),(z + 1)

° Watch Video Solution

68. WicileTddh! Ufgedl SgUGIT QAT SgUa

(2z° — 22° + az — a), (z — a)

° Watch Video Solution

69. WicilcTiedh! Uigedl SgUGIT QAT Sgua


https://dl.doubtnut.com/l/_horFR0pAWCfC
https://dl.doubtnut.com/l/_gT7PaJoboOZs
https://dl.doubtnut.com/l/_yPv4ILDdRe0u

(54m® + 18m* — 27m + 5), (m — 3)

o Watch Video Solution

70. y* —5y° +Ty+m A §gIEN y+2 A

YPTRIN §Teh! 50 3¥d, d¥ m ot fhAd Prel.

° Watch Video Solution

71. 3¥9dd fAgAaT 3W™PT &&®d z + 3 &

z2 4 2x — 337 31994 371 Bl d o=dl.

o Watch Video Solution



https://dl.doubtnut.com/l/_yPv4ILDdRe0u
https://dl.doubtnut.com/l/_Q1aOjCg6eKf5
https://dl.doubtnut.com/l/_am5y4JG7fTQn

72. SR -2 @ z° —mz?+ 10z — 20 AT

SgUSHT 31add A TR m i fHAd Blel.

° Watch Video Solution

73. Wleilel 3TERUNd q(x) 1 p(x) T 31add 31g fobar

1Y B 31999 RAegide oeal.

pr) =2 -2 -2 —1qz) =z -1

o Watch Video Solution



https://dl.doubtnut.com/l/_am5y4JG7fTQn
https://dl.doubtnut.com/l/_gXtHbIeevTzs
https://dl.doubtnut.com/l/_lgNuKUe1zETL

74. WAl 3&T&UId q(x) 81 p(x) 1 Hadd 311g fobal
Tl ® 31999 fAegiar v,

p(x) = 22° — 2> — 45,q(z) =z — 3

° Watch Video Solution

75. (z + 1) F (2 + 31) o WP JUTRT STehY

Plcl.

o Watch Video Solution



https://dl.doubtnut.com/l/_eIImNaxc7jFe
https://dl.doubtnut.com/l/_OpoZgouBeLP3

76.m—16Tm21—1am22—12ITa_§qa?IT

3q3d 31Tg ¢ GRadl.

° Watch Video Solution

1

77. R z —2 o x—(g) g ael

nz’ — 5z + m Il GG G IR R GrRgdT

fem=n=2

o Watch Video Solution



https://dl.doubtnut.com/l/_v442N8fY21R4
https://dl.doubtnut.com/l/_dCs7BUWDb0Sv

78.5R p(z) = 2+ bz R p(2) + p( — 2) — p(1)

Plcl.

° Watch Video Solution

79. Wleflcl SgUard 3994 HIal.

2% +x — 1

° Watch Video Solution



https://dl.doubtnut.com/l/_szCOWIcA2Tvw
https://dl.doubtnut.com/l/_yESdD6uPxfVV

80. Weflcl TgUGH 31Tad HIGl.

om? + 5m — 3

° Watch Video Solution

81. Wrcfle] TG 37a3d HIal.

1222 + 61z + 77

o Watch Video Solution



https://dl.doubtnut.com/l/_sB2zsfIg8cLd
https://dl.doubtnut.com/l/_TzHxIBoTCBAp

82. Wcilct TgUCI Id HIa.

3y° — 2y — 1

° Watch Video Solution

83. Wlcilel Sguard 3add HIal.

V3z: + 4z + /3

o Watch Video Solution



https://dl.doubtnut.com/l/_7TRXHepNIppP
https://dl.doubtnut.com/l/_dGMc1zqocS1G

84. Wellcl IgUG 3(TId HIGI.

123 4
Ew_w—i_

° Watch Video Solution

85. WTcilel TgUGd 37a3d Hlal.

(:cz — w)2 — S(w2 — :c) + 12

o Watch Video Solution



https://dl.doubtnut.com/l/_SPzc7410fDjg
https://dl.doubtnut.com/l/_PkufGZud3e2c

86. Wcilct SgUCId dd HIa.

(x —5)° — (bz — 25) — 24

° Watch Video Solution

87. Wlcilcl SgUard 3add HIal.

(z2 — 62)" — 8(22 — 6z + 8) — 64

o Watch Video Solution



https://dl.doubtnut.com/l/_abDkUDDT7OyY
https://dl.doubtnut.com/l/_4SuDmkcUw3r4

88. Wil IgUCId add HIa.

(2> — 2z + 3)(2° — 2z + 5) — 35

° Watch Video Solution

89. WrcfleT SgUG 37a3d HIal.

(y+2)(y+3)(y+8)(y—3) +56

° Watch Video Solution



https://dl.doubtnut.com/l/_APfveOcekats
https://dl.doubtnut.com/l/_O8uFuL3T7fs1

90. Wleflel TgUG 3(aad HIal.

(v + 5y) (v* + 5y — 2) — 24

° Watch Video Solution

91. Wrefle UG 37d BIa.

(z — 3)(z —4)*(z — 5) — 6

° Watch Video Solution

Exercise


https://dl.doubtnut.com/l/_xyLhOV1xLdh7
https://dl.doubtnut.com/l/_gfzHnH7LSfJx
https://dl.doubtnut.com/l/_YTvormlW1NOp

1. Wicilel Yedeh FHRITS! feeiedt qaiateh! e g

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YTvormlW1NOp
https://dl.doubtnut.com/l/_OQC4yTFkVQml

2. Flellel JAP TRINTS! feeiedn qaiaddh! 3 waiy
fAas.

/7 1 TR B el

N | =

B.5

C.2

D.O

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OQC4yTFkVQml
https://dl.doubtnut.com/l/_URL4NUZBfYfp

3. Tlcilel YD YARITS! feeied qaiadh! 31 Ty
fAgs.
0 T Sguarl HIET febdit 31 ? -

A.0

B.1

C. fAf3d Fxar Iq A&

D. PIUTAIGI IIdd HeAT

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_URL4NUZBfYfp
https://dl.doubtnut.com/l/_4c4DhPnGmXOh

4. Teitel T YA feciedan qaigued 3 9
fAgs.
2z° + 5X° +7" 31 SgUcri et foeii? -

A.3

B.2

C.5

D.7

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_4c4DhPnGmXOh
https://dl.doubtnut.com/l/_DchqczXGuSoq

5. Wicilel T YHRIS! faciean qaiatet 31ge waiy
fAgs.

z® — 191 USRI AU Y DIV ?
A. (1,-1)
B. (3,-1)
C.(1,0,0,-1)

D. (1, 3,-1)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DchqczXGuSoq
https://dl.doubtnut.com/l/_Wu5kWp9aZSUo

6. Tcilel TP THNMTS! feeied gaiatd! s w3y
fAga.

p(x) = z® — 7Tz + 3FI'\’p(7\/7) :

A3

B. 7\/7

C.42\/7 + 3

D. 49./7

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Wu5kWp9aZSUo
https://dl.doubtnut.com/l/_YYNhL9w8aGmE

7. DAl 9 FHRITS feeiedn gl 3rges qaia
fas.
22° + 22 AT SGUERN z = — 1 39T fHad fasd

?:

A4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_YYNhL9w8aGmE

8. Wil ISP FHNTS! feeied qaiatd! s waiy
fAqa.
3x2+mwmw—1a§ﬁ?ﬁﬂﬂ?ﬂaﬂ'@ﬁﬂ?m

Y fosrd fooedt ?

A4

D.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_O1vQvV0n1Tth

9. Tlcilel YD FHRATS! feeied qaatD! 3 T
fAas.
(2 —3)(2z —7z* +4) & IMHR BRI
Ao Sgudl BIct fabedl?

A.5

B.3

C.2

D.O

Answer: A

f _ 1


https://dl.doubtnut.com/l/_O1vQvV0n1Tth
https://dl.doubtnut.com/l/_YoDO9HoCVRD0

‘ o Watch Video Solution

10. Wleilcl Fedeh THATS! e qaigueh! 31 T
fAgsr.
GefleTdeh! Y81 TGS BIvTe ? -

Az+5

B.z> + 5

C.xz’+5

D.z* + 5

Answer: A

| S 1


https://dl.doubtnut.com/l/_YoDO9HoCVRD0
https://dl.doubtnut.com/l/_fuMBZmkUeZDK

l o Watch Video Solution

1. Weilet Fedeh Sguard! dict forer.

5+ 3z°

o Watch Video Solution

12. "Wleflel YAh Sguare bicl fergl.

7

° Watch Video Solution



https://dl.doubtnut.com/l/_fuMBZmkUeZDK
https://dl.doubtnut.com/l/_1QdarrBE7EQW
https://dl.doubtnut.com/l/_CVZqKcZiaz9W

13. "leflel YAh Sguare bicl fergl.

az’ + bz {a, b IT R IAT 312}

° Watch Video Solution

14. Tleflcl SgUa! FHTOT ®aTd felal.

4 + 72t — 22 — 2+ 9

° Watch Video Solution



https://dl.doubtnut.com/l/_0qhNL8LdgaU5
https://dl.doubtnut.com/l/_oAMK6jlr0dfH

15. Wleilcl SgUaG! FHTOT RATd foTal.

p+ 2p° + 10p* + 5p* — 8

° Watch Video Solution

16. Wcilcl IgUG! e 0T &Y fergr.

z* 1+ 16

o Watch Video Solution



https://dl.doubtnut.com/l/_84eH4WO1mZ9Z
https://dl.doubtnut.com/l/_nPABEA7RmsJ5

17. WTeflet SgUal T UTeh W fete.

m® + 2m? + 3m + 15

° Watch Video Solution

18. Weflel HeIUTh FUIAIT SgUal x & Tl Jrawd

gTdip waTd fdgl.

(3,-2,0,7,18)

o Watch Video Solution



https://dl.doubtnut.com/l/_pUqT6dYoD2X2
https://dl.doubtnut.com/l/_OGfyhvuj2OgU

19. WeAle TEOTH R TgI x & A aTIReA

gTdice ®4Td felgl.

(69 1’ O’ 7)

° Watch Video Solution

20. "icflel FSOIP RUIAIT dgUal x & el Jrawd

gTdip waTd fdgl.

(4,5,-3,0)

o Watch Video Solution



https://dl.doubtnut.com/l/_yihH3KJApQ96
https://dl.doubtnut.com/l/_OmQat9D5km0D
https://dl.doubtnut.com/l/_k1X7JoC6h1O8

21. S¥IST B,

72t + 223 + = + 10, 1522 + 922 — 8z + 2

° Watch Video Solution

22. S¥IST .

7zt + 22% + = + 10, 1523 + 922 — 8z + 2

° Watch Video Solution

23. IoITSTh] BT,

5z — 2y + 9,322 + 5y — 7



https://dl.doubtnut.com/l/_k1X7JoC6h1O8
https://dl.doubtnut.com/l/_QgYF0ZPbk3DL
https://dl.doubtnut.com/l/_1YjvV8Bb8yzr

I @ Watch Video Solution

24. ISITSTh] B,

2¢° + 3z +5, 2> — 2z + 3

° Watch Video Solution

25, Gleflel JOMBR 1.

(m3—2m—|—3)(m4—2m2—|—3m—|—2)

° Watch Video Solution



https://dl.doubtnut.com/l/_1YjvV8Bb8yzr
https://dl.doubtnut.com/l/_TGioFVubU87w
https://dl.doubtnut.com/l/_EayVGt96MdSb

26. Wicilcl IUTBR 1.

(5m® — 2) (m* — m + 3)

° Watch Video Solution

27. 32> — 8z + x +7 U SgUSl z —3 Al

IgUCI HAYD Ugdl WM g STehl Blal.

° Watch Video Solution



https://dl.doubtnut.com/l/_rrFz9UDayp9y
https://dl.doubtnut.com/l/_tSLOtwLNQBwU

28. m A DU fHAdGRAT 4+ 3 &
z° — 2ma + 21 1 YT 3T 3 ?

° Watch Video Solution

29. 2016 quAT AdEl PlaTe, a%s d RI@ell AT
e HH  5x? — 3y?, Ty’ 4 2zy 3N
9z + 4y Bl 2017 U SATdA gl
TMatda fAete g ASPIRGRAT 3Bz + 2y — 7,

Sy d 3z + xy AT GO A el @R 2017 =0

BTl T ATl UhT clicwieeA fabdl gl ?

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_UDmvqzrSCJP9
https://dl.doubtnut.com/l/_QKM1VSvD5Rga

30. bz’ +x+5 @ bxr® —2r+5 A FFIGH
r — 3 9 PR AURY dTeh! 3IhH m d n Al
HMOTSR m — n = 0318 &3 b I fud Fral.

o Watch Video Solution

31. H¥dRY .

(8m® +3m — 6) — (9Im — 7) + (3m” — 2m + 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_QKM1VSvD5Rga
https://dl.doubtnut.com/l/_Vjc1wTSd1pYS
https://dl.doubtnut.com/l/_8DMFFPbqVHWI
https://dl.doubtnut.com/l/_yw7xoPSdWrsx

32. 22 + 13z + 7 He[d IV SgUl It Bl
U 322 + bz — 4 € 9g9d) Aol ?

° Watch Video Solution

33. 4m + 2n + 3 AT A piordr LN Adard)
W6m+3n+10ﬁa§qﬁfﬁ%ﬁ?

° Watch Video Solution



https://dl.doubtnut.com/l/_yw7xoPSdWrsx
https://dl.doubtnut.com/l/_wIUXmg1vEYjj

